Seat No.:

DIPLOMA ENGINEERING - SEMESTER -V « EXAMINATION - WINTER-2016

Subject Code:3350604

Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Estimating Costing & Valuation

Time:10:30 AM TO 01:30 PM

Instructions:
1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of programmable & Communication aids are strictly prohibited.
5. Use of only simple calculator is permitted in Mathematics.
6. English version is authentic.
Q.1 Answer any seven out of ten.
1. Explain S.O.R.
2. Differentiate cost and value .
3. Define the term spot item.
4.  State the skills of a good estimator.
5. State the multiplying factor for painting for following
(a) Flush door (b) Fully paneled door.
6. Define scrap value and salvage value.
7.  State data required for preparing an estimate.
8.  State rules for deduction in R.C.C. work.
9.  State at least four measurement units with one example of each.
10. Define contingencies.
Q.2 (a) What are the purposes of specifications?
OR
(a) What are the standard specifications?
(b)  Write detail specification of brickwork in CM(1:6).
OR
(b)  Write detail specification for wood work in door and window.
(c) State factors affecting rate analysis. Explain any one in detail.
OR
(c¢) Derive rate analysis for C.C.1:4:8 for foundation.
(d) Explain task work.
OR
(d) State current market rates for the following.
(a)Cement (b) Teak wood (c¢) Bricks.
Q.3 (a) From fig.(1)of residential building find the quantity of excavation for the
foundation
OR
(a) From fig.(1)of residential building find the quantity of B.B.Masonary above
plinth and up to slab for 30 cm thick wall only.
(b)  From fig.(1)of residential building find the quantity of earth filling in plinth.
OR
(b) From fig.(1)of residential building find the quantity of 12mm th. Smooth

cement plaster in CM (1:4) for B.R. and D.R. only. (only inside).
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From fig.(2) of R.C.C. beam find the quantity of the steel reinforcement.

OR

From fig.(2) of R.C.C. beam find the quantity of concrete in beam and form

work for the beam.

Find out the quantity of earth work in road.The formation width of road is
10m. Side slope in cutting is 1:1 and in banking is 2:1 Road formation has

downward slope of 1 in 150. Use Mid Sectional Area method.

CH.m. 0 30 60 90 120 150

GL. m. 105.00 105.30 105.60 105.50 105.70 105.00

FL. m 107.00 - - - - -
OR

Find out the quantity of earth work in road in sloping ground in cutting. Side
slope in cutting is 1.5:1. Formation width is 10.00m. Use prismoidal formula.

Chainage in m. Depth in cutting at Cross slope of ground
centre in m. (r:1).
0 3.00 6:1
30 4.00 7:1
60 4.50 8:1

In a plot costing Rs.20,00,000.00 a building is constructed at a cost of
Rs.40,00,000.00. The building consist of eight flats. The owner expects 8%
return on the cost of construction and 5% return on the cost of land. Calculate
the monthly rent of each flat.
(1) Life of building 70 years. Rate of interest for sinking fund is 5%.
(i1))Annual repair cost at1% of construction cost.
(ii1)Other outgoings with all taxes at 30% of total rent.
(iv)Take scrap value of building at 10% of construction cost.
Workout annual installment for the loan of Rs. 15,00,000.00 to be paid in 15
years.Take interest as 10.50%.
Enlist objects of valuation.
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